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ഗണിതം     
 Mathematics 

 (211) 
  Tutor Marked Assignment          

പരമാവധി  മാർÙ്: 20 
Max. Marks: 20 

Ôറിɠ്:  (i) എ̣ാ േചാദÊŅൾÚം ഉƿരെമϚതണം. ഓേരാ േചാദÊŅൾÚം 
േനേര അതിെɎ മാർÚകൾ നൽകിയിƄƣ് 

Note:  (i) All questions are compulsory. The Marks allotted for each question are 
given beside the questions.     
(ii)ഉƿരÙടലാസിെɎ ആദÊേപജിൽ തെȽ നിŅϕെട േപര്, എൻേറാൾെമɎ് 
ന˅ർ,  AI േപര്, വിഷയം എȽിവ എϚƻക 
(ii) Write your name, enrollment numbers, AI name and subject on the first             
page of the answer sheet. 

1. താെഴ െകാſƿിരിÚȽ ഏെതŁി˼ം ഒȽിെനÚറിŊ് ഉƿരെമϚƻക 2 
Answer any one of the following question. 

(a) i) 3/5 ȟം 4/5 ȟം ഇടയി˼ϗ 5 ഭിȽകŅൾ കെƣǀക  

11)എ̣ാ േപാസിϿീവ് ɒർƵ സംഖÊകϕെട˖ം വർĖʿലŅൾ അഭിȽകŅൾ 
ആേണാ ? അെ̣Łിൽ വർĖʿലം ഭിȽകമായി വ˹Ƚ ഒ˹ സംഖÊ 
ഉദാഹരണമായി എϚƻക       (പാഠം 1) 

i) Find five rational numbers between 3/5 and 4/5. 
ii) Are the square roots of all positive integers irrational? If not, give an 
example of the square root of a number that is a rational number.       ( Lesson 1) 

(b) ലĶകരിÚക 
(i) 3(a4 b3)10 x 5 (a2 b2)3 
(ii)  (2x -2 y3)3   (പാഠം 2) 

(b) Simplify the following 
(i) 3(a4 b3)10 x 5 (a2 b2)3 
(ii) (2x -2 y3)3     ( Lesson 2) 

2. താെഴ െകാſƿിരിÚȽ ഏെതŁി˼ം ഒȽിെനÚറിŊ് ഉƿരെമϚƻക   2 

Answer any one of the following question. 
(a) (i) പരിഹരിÚക : (5m – 3)/4 + (3m – 2)/5 = (m + 6)/7 

(ii)  രƤ സംഖÊകϕെട ƻക 82 ഉം അവ˖െട Ēണനഫലം 1456 ഉം ആയാൽ ആ 
രƤ സംഖÊകൾ കെƣǀക      ( പാഠം 3) 
(i) Solve: (5m – 3)/4 + (3m – 2)/5 = (m +6)/7    
(ii) The sum of two numbers is 82 and their product is 1456, find the two numbers.   

b) ബυപദം  (x3 + 2x + 1)/5 – (7/2)x2 – x6   എȽതിൽ  ™ 

(i) ബυപദƿിെɎ ഡിįി  (ii)  x3 െɎ Ēണകം 
(iii) x6 െɎ Ēണകം  (iv) Νിരമായ പദം  
എȽിവ എϚƻക        ( പാഠം 3)    
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b) For the polynomial (x3 + 2x + 1)/5 – (7/2)x2 – x6, write 
(i) the degree of the polynomial 
(ii) the coefficient of x3 
(iii) the coefficient of x6 
(iv) the constant term    

   
2. താെഴ െകാſƿിരിÚȽ ഏെതŁി˼ം ഒȽിെനÚറിŊ് ഉƿരെമϚƻക          2 

Answer any one of the following question. 
    

 (a) ചിǔം ഒȽിൽ XY, MN എȽീ േരഖകൾ ‘O’ ൽ ഖƪിÚȾ ∠POY = 90° ഉം     
a: b = 2 : 3 ഉം ആയാൽ  c കെƣǀക      പാഠം 10  

 
 

In Fig. 1, lines XY and MN intersect at O. If ∠POY = 90° and a: b = 2 : 3, find c. ( Lesson 
10) 

 
 
 
 
 
 
 
 
 
 

(b) ചിǔം 2 ൽ ∠PQR = ∠PRQ എŁിൽ ∠PQS = ∠PRT എȾ െതളിയിÚക (പാഠം 
11) 

 

  
 

In Fig. 2 , ∠PQR = ∠PRQ, then prove that ∠PQS = ∠PRT. 
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4. ഏെതŁി˼ം ഒ˹ േചാദÊƿിന് 100-150 വാÚകളിൽ ഉƿരം എϚƻക  4 
Answer any one of the following questions in about 100-150 words. 

a) സാമാȣരികƿിെɎ ഒ˹ േകാൺ 80° ആയാൽ എ̣ാ േകാơകϕം കെƣǀക.  
ഒ˹ ദീർഘ ചƻരƿിെɎ ഒ˹ വികർണം 25°  അതിെɎ വശŅളിേലÙ് 
ചരിżിരിÚȾ. രƤ വികർƵŅൾÙ് ഇടയി˼ϗ നÌനേകാൺ കെƣǀക  

 
Find all the angles of a parallelogram if one angle is 80°. 

In a rectangle, one diagonal is inclined to one of its sides at 25°. Measure the acute 
angle between the two diagonals.  

b) സാമാȣരീകƿിെɎ േകാơകϕെട സമഭാജി ഒ˹ ദീർഘചƻരം ഉƣാÚȾ എȽ് 
െതളിയിÚക 

 ലംബകം ABCD, യിൽ AB∥CD. ∠A = 55° ഉം ∠B = 70° ഉം ആയാൽ ∠C, ∠D എȽിവ 
കെƣǀക             (പാഠം 13, രƣിȟം)
Prove that the angle bisectors of a parallelogram form a rectangle In a trapezium 
ABCD, AB∥CD. Calculate ∠C and ∠D if ∠A = 55° and ∠B = 70° 

        ( Lesson 13 for both) 
 
5. ഏെതŁി˼ം ഒ˹ േചാദÊƿിന് ഉƿരം എϚƻക       4 

Answer any one of the following questions 
1. 
a) ചിǔം 3 ൽ DE||AC ഉം DF||AE ഉം ആണ് BF/FE = BE/EC എȽ് െതളിയിÚക 
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a) In the figure 3, DE||AC and DF||AE. Prove that BF/FE = BE/EC. 
 

 

b) AD, BC എȽിവ AB എȽ േരഖാ ഖƪƿിെɎ   ƻലÊ ലംബŅളാണ്. CD എȽത് AB 
െയ സമഭാഗം െച˷Ⱦ എȽ് കാണിÚക              ( പാഠം 14)  

 

 

 

 

 

 

AD and BC are equal perpendiculars to a line segment AB. Show that CD bisects AB. 
 
 
 
 
 
                    
 

    ( Lesson 14) 
2.  a) ഒ˹ ̨ƿƿിെɎ വÊാസƿിെɎ അįബിȱÙളിൽ നിȾϗ െതാſവരകൾ 

സമാȣരമാെണȽ് െതളിയിÚക 
 b)രƣ് ഏക േകȴ ̨ƿŅϕെട ആരŅൾ 5 cm ഉം 3 cm ഉം ആണ് െചറിയ 
̨ƿെƿ ΤർശിÚȽ വലിയ ̨ƿƿിെɎ ഞാണിെɎ നീളം  കെƣǀക 

a) Prove that the tangents drawn at the ends of a diameter of a circle are parallel. 
b) Two concentric circles are of radii 5 cm and 3 cm. Find the length of the 

chord of the larger circle which touches the smaller circle.   ( Lesson 15) 

6.  താെഴ തȽിരിÚȽ  േɧാജáകളിൽ ഏെതŁി˼ം ഒ˹ േɧാജà് ത˶ാറാÚക । 

Prepare any one Project out of the following projects given below: 

a) താെഴ െകാſƿിരിÚȽ ഡാϿ˖െട  ആ̨ƿി ബυʷജം വര˞ക 

 

úാസ് അȣരം 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 

ആ̨ƿി 4 6 8 10 12 4 7 5 
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b) úാസ് VIII െല 30 വിദÊാർǇികϕെട രé ıɡകൾ താെഴɠറ˖Ƚ രീതിയിൽ 
േരഖെɠſƿിയിരിÚȾ 

A, B, O, O, AB, O, A, O, B, A, O, B, A, O, O, 
A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O. 

ഒ˹ ʉീകÍൻസി ഡിΒിബÌഷൻ േടബിളിെɎ ˺പƿിൽ ഈ ഡാϿാെയ ɧതിനിധീകരിÚക. 
ഇതിൽ ഏϿ̦ം Õſത˼ϗ രé ıɠ് ഏത് ? അɒർവ രé ıɠ് ഏത് ? 

അെ̣Łിൽ 

a) 40 എൻജിനീയർമാ˹െട താമസ ΝലǀനിȽ് അവ˹െട േജാലി ΝലേƿÚϗ 
Ƿരം കിേലാമീϿർ താെഴ െകാſƿിരിÚȾ: 

 

ʾകളിൽ നൽകിയിരിÚȽ ഡാϿാÙായി úാസ് വലിɠം അű് ഉϗ ഒ˹ ıɠ് ʉീകÍൻസി 
ഡിΒിബÌഷൻ േടബിൾ നിർˌിÚക. 0-5 എȽത് ആദÊ ഇɎർെവൽ ആയി എſÚക (5 
ഉൾെɠſƿിയിƃി̣) ഈ േടബിളിൽ നിȽ് നിŅൾ എȣ് ɧധാന സവിേശഷതകളാണ് 
നിരീýിŊത് ? 

b) ഒ˹ സംഘടന േലാകെമ˅ാſʾϗ 15 - 44 ഇടയിൽ ɧായʾϗ Κീകളിൽ കാണെɠſȽ 
േരാഗƿിȟം മരണƿിȟʾϗ കാരണം കെƣǀȽതിനായി സർേ̯ നടƿി താെഴɠറ˖Ƚ 
കണÚകൾ കെƣƿി )ശതമാനƿിൽ(  

÷മ ന˅ർ കാരണŅൾ  Κീ മരണ നിരÙ് 

1. ɧതËൽപാദന ആേരാഗÊ അവΝകൾ 31.8 

2. നÌേറാ ൈസകÊാƆിക് അവΝകൾ 25.4 

3. പരിÚകൾ 12.4 

4. χദയസംബȷമായ അവΝകൾ 
4.3 

5. 

6. 

ശÍസന വÊവΝകൾ       
മϿ് കാരണŅൾ 

4.1 

22.0 

 

i) ʾകളിൽ നൽകിയിരിÚȽ വിവരŅൾ įാഫിൽ ɧതിനിധീകരിÚക  
ii) േലാകെമ˅ാſʾϗ Κീകϕെട അനാേരാഗÊƿിȟം മരണƿിȟം ɧധാന കാരണം ഏത് 

അവΝയാണ് ? 
iii) നിŅϕെട അധÊാപകെɎ സഹായേƿാെട പറ˖Ƚ കാരണŅൾ ഉƣാകാൻ ɧധാന 

പł വഹിÚȽ ഏെതŁി˼ം രƤ ഘടകŅൾ കെƣǀവാൻ ̈́മിÚക (പാഠം 24, രƣിȟം) 
a) Draw the frequency polygon for the following data 

 
Class 

Interval 
 

10-20 
 

20-30 
 

30-40 
 

40-50 
 

50-60 
 

60-70 
 

70-80 
 

80-90 

Frequency 4 6 8 10 12 14 7 5 

b) The blood groups of 30 students of Class VIII are recorded as follows: 
 

A, B, O, O, AB, O, A, O, B, A, O, B, A, O, O, 
A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O. 
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Represent this data in the form of a frequency distribution table. Which is the most 
common, and which is the rarest, blood group among these student? 

OR 
 

a) The distance (in km) of 40 engineers from their residence to their place of work were 
found as follows: 

 

 
Construct a grouped frequency distribution table with class size 5 for the data given 
above taking the first interval as 0 – 5 (5 not included). What main features do you 
observe from this tabular representation? 

 
b) A survey conducted by an organisation for the cause of illness and death among the 

women between the ages 15 – 44 (in years) worldwide, found the following figures 
(in %) : 

 

S. No. Causes Female Fatality Rate 

1. Reproductive health conditions 31.8 

2. Neuropsychiatric conditions 25.4 

3. Injuries 12.4 

4. Cardiovascular Conditions 4.3 

5. Respiratory conditions 4.1 

6. Other Causes 22.0 

(i) Represent the information given above graphically. 
(ii) Which condition is the major cause of women’s ill health and death worldwide? 

 
(iii) Try to find out, with the help of your teacher, any two factors which play major role 

in the cause in (ii) above being the major cause. 
 
 

( Lesson 24 for both) 
 

 
  
  
  
  
  
  
  
  


